MATHS WORKSHEETS

 A kiosk sells two different types of ice cream. The Whopper cost x pence and the Comet costs y pence. 

Wendy buys 7 Whoppers and 5 Comets and pays 391 pence.

Write down the above information in an equation-using x and y.

……………………………………………………………………………

Jenny buys 4 Whoppers and 9 Comets and pays 377 pence.

Write down the above information in an equation-using x and y.

……………………………………………………………………………

By plotting the graphs of the above equations you can find out the values of x and y and hence find out the price of a Whopper and a Comet.

ALGEBRA PROBLEMS

1. The number of calories (c) needed to heat (v) ml of water from (b) degrees Celsius to (h) degrees celsius is given by the formula:





c = v( h – b)

How many calories are needed to raise 500ml of water from 30ºc to 50ºc?

2. Errol thinks of a number, doubles it and adds twelve. The answer is 20. What number did Errol think of?

3. The cost, C pence, of a newspaper advertisement of N words is given by the formula:




C = 12N + 32

a) Find the cost of an advertisement of 16 words.

b) Find the number of words in an advertisement costing £5.48.

